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Weighting: All the results were weighted by age, sex, 2019 Westminster election, 2014 independence referendum and
country of birth.
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JIN:W15176

[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes Lib Dem{ SNP | Scotlan:England] Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89 423 431 533 121 478 a3 411] o901 98! 87|
(1086)| (146); (166). (192) (165) (191) (225)| (534) (552)| (232) (171) (74). (438)| (495) (470) (121)| (507) (39)) (439)| (842) (163)  (81)
Q2. If another UK Parliamentary Election | Base: All respondents 1086 161 1720 189 182 220 552 534] 236 175 89 423 431 534 121 478 437 a11] o901 98! 87|
was held tomorrow, how likely would you be (1086)| (146): (166) (192) (191) (225)| (534) (552)| (232) (171) (74) (438)| (495). (470) (121)| (507) (39); (439)| (842) (163)  (81)
to vote? 10 - Certain To Vote 746 o1 1260 146 420 326 187 126 63 329 3230 377 26| 352 31332 627 73 46|
73%.  77%); 76%. 61%| 79%; 72% 71%; 78%| 75% 71%! 38%| 74% 71%.  81%)| 70%! 74%: _53%
9 14 20 50 57 24 19 9 a1 40 58 10| 40; 3; 30 88 9 11]
10%)| 12% 8% _ 11% 9% 11%| 10% 11% _10%; 10%| 9% 11%  8%| 8% 7% 7%| 10%: 9%  12%
8 75 14 14 8 29 47, 12 12 9 25 26 35 14 34 6 23] 63 7 5|
7%| . 9% 8% 4% 5%  9%| 5% 7% 11% _ 6%)| 6% 7% _12%| 7% 14%:  6%| 7% 7% . 6%
7 a1 14 1 19 22 7 7 1 11] 11] 20 10| 12 3 [ 10| 33 1 7!
a%| 9% 3% <1% 3% 4%| 3% 4% <1%  3%| 3% 4% _ 8%| 2% [ % 0 3% 4% <1% 8%
6 22 6 1 3 6 1§ [ [3 2 8| 6 13 3 6: 0| 0; 1 5| 18 2 2
2%)| 4% <1% 2% 1% 3% 0 3% 2%  2%| 1% 2% 2% 1% 0 [ 2% 1%| 2% 2% 3%
5 36 5 1 10 25 3 1 4 5| 7 14 15| 17 9 9 1 1 1 2 [ 28 3 5|
3%| 3% 3% <1% 2% 5%| 1% <1% 5%  1%| 2% 3% 12%| 4% 2% 9%  9%| <1% <1% 4%  1%| 3% 3% 6%
4 4 2 2 o 0| o 4 o 1 o 0| 1 1 2| 2 2 0 0| 0; 1 0 0| 3 1 0|
<1%| 1% 0 0. 1% [ 0 0 <1%) 0 <1% [ 0| <1% <1% _ 2%| <1% <1% [ 0 0 <1% [ 0| <1% _<1% 0
3 13 5 4 1 1 6 7! 1 [ 0 4 7 3 2 7 2 3 0| 0; o 0; 3 9 2 3|
1%| 3% 2% <1% <1% <1% <1%| 1%  1%| <1% [ 0 <1%| 2% <1%  2%)| 1% <1% _ 3% [ [ 0 0 <1%| <1% 2% 3%
2 6| o i 1 [ 4 0| 1 5| o i o 0| 1 2 3 2 1 0 1 0 o 0 1 5 o 1
<1%| 0 <1% <1% 0. 2% 0| <1% _ <1%| 0 <1% 0 0| <1% <1% _ 3%| <1% <1% 0. 16%) [ 0 0. <1%| <1% 0. 1%
1~ Certain Not To Vote 35 4 2 6 11 8 3| 10 25 1 1 0 1 8 11 16| [3 9 3 0| 1 2 1 2| 27 1 7!
3%| 3% 1% 3% 7% 4%  1%| 2%  5%)| <1%  <1% 0 <1%| 2% 2% 13%)| 1% 2% 4% 0| <1% 1% 2% <i%)| 3% 1% _ 8%
Mean score 9.0 86 9.2 9.3 8.5 86 94 9.3 8.6| 9.6 9.3 9.3 9.5 9.2 9.2 7.4] 9.2 9.2 8.3: 7.7, 9.7 9.3 9.2 9.5] 9.0 9.3 8.1
Q3. Who would you vote for if a UK Base: All likely to vote (8- 929 125 153] 175, 129 144 203] 500 430| 224 158 82 395 389 470
Parliamentary Election took place s (221) (154).  (68) (411)| (446) (415)
tomorrow? (8-10 at Q2) 6 19 8 360 302 91
3% 12%  10% 91%)| 78%  19%
Conservative 191! 2 14 4 26 170
85% 1% 17%  1%| 7% 36%
Labour 5109 6 15| 32 9%
2% 69% 7% 4%)| 8% _ 20%
Liberal Democrat 1 2 34 0| 3 34
<1% 1% 42% of <1% 7%
Green 1 3 3 1 4 10
<1% 2% . 4%  <1%| <1% 2%
Other 1 1 0 0| 1 4 1
<1%  <1% [ of <1% <1% 2%
Will not vote o 0; o 0| o 0; 0|
[} 0 [} 0 [} 0 0
Don't Know/ Not sure 20 22 15 15| 19 63 10
9% 14% 18%  4%)| 5%  13% 16%
Prefer not to say o 0 1 0| 2 4 0|
[ 0 2% o <1% <1% [
Q3. Who would you vote for if a UK Base: All likely to vote (8- 141, 168, 119 120, 167| 452 380 204 136 65! 62| 408 374 a7 a| 172 134 32) 363 699 82 52|
Parliamentary Election took place 10 at Q2) respondents, (136) (172) (122) (129); (173)| (443) (398)| (201) (133) (55) (64)| (439); (351)) (47) (4)| (164) (126) (29) (389)| (655) (136) (50)
tomorrow? (8-10 at Q2; excluding i i
undecided) SNP 74 68 80, 65 69| 216 198 6 19 8 21355 33 26 0| 10 27 3325375 21 19
67% 52%)| 3%  14% _13% 34%]| 87% 6% _20%; 9% 89%| 54%
Conservative 11 86| 191 2 14 19 7 149 13 7 14 168 29 18
10% 23%)| 94% 1%  21% 31%)| 2% 87%  10% 23%  4%)| 24%; 35% _34%
Labour 19 69 5109 6 15 34 4 88 2 177117 17 7!
16%; 18%| 2% 80%: 9% 24%| 8% 3% 7%  5%| 17% _21%:  13%
Liberal Democrat 5 11] 1 2 34 2 2 8 3 18 3 24 11] 5|
4% 6% 4% 3%)| <1% 1% 52% 3%|  <1% 5% 2% 56% <1%| 3% 13% 9%
Green 1 2 4 10) 1 3 3 4 8: 0; 2 2 4 11 3 3|
<1% 1% 3% 3%)| <1% 2% 4% 6%| 2% 0 1% 5%  1%| 2% _ 4% 6%
Other 1 3 [ 6| 1 1 0 1 1 1 1 [ 1 4 1 1
<1% 2%: 0 <19%: <1% <19%: 2% <19%: <1% 0 2% <1% <1% <19%: [\} <19%| <1% 2% 2%

05/05/2020



JIN:W15176

[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 6| 189 173 a3 411] o901 98! 87|
(1086)| (146)] (166). (192) (165). (191) (225)| (534) (552)| (232) (171). (74). (438)| (495). (470) (121)| (507) (458) (94). _ (7)| (180). (160) (39): (439)| (842)) (163) (81)
Q5. If another Scottish independence Base: All respondents 1086] 161 1720 189 162 182 220. 552 534| 236 175 89 423 431 534 121 478 488 94 6| 189 173 23] 411 901 98! 87|
referendum was held tomorrow, how likely (1086)| (146): (166). (192) (165). (191) (225): (534) (552)| (232) (171) (74). (438) (495). (470) (121)| (507) (458) (94).  (7)| (180); (160) (39): (439) (842) (163)  (81)
would you be to vote? 10 - Certain To Vote 830|117 138 157 109 126 182 451 379 201 133 71 347 3420 428 60 394 391 42 216l 137 35349 687 81 62
76%| 73%:  81% 83%; 82% 71%)| 85%  76% 79% 80%: 50%| 82% 80% 45% 38%| 85%: 79% _81%; 85% 76% _82% _71%
9 93 14 16 17 14 17 14 47 46| 16 15 38 46, 9| 39 45 10 0| 13 12 5 33 80 7 7!
9%| 9% 10% 9% 9% 10% 6% 9%  9%| 7% 9% 9% 9%  7%| 8% 9% 11% O 7% 7% 11% 8% 9% 7% _ 8%
8 65 12 4 5 15 17 13 23 42 10 13 22 27 17, 25 21 19 1 9 12 3 11] 53 [5 6|
6%| 8% 2% 3% 9% 9% 6% 4% 8% 4% 7% 5% 5% 14%| 5% 4% 20% _ 9%| 5% _ 7% 6% _ 3% _ 6% _ 6% _ 7%
7 26 6 3 4 [3 4 2 10 15| 5 6: 7 13 6| [3 18 1 0| 3; 6 0; 5 22 o 3|
2%| 4% 2% 2% 4% 2% 1% 2% _ 3%| 2% 3% 2% 2%  5%| 1% 4% <1% 0| 2% 4% 0 1% 2% 0 4%
6 17] 4 4 2 2 2 3 14) 1 3 o 6 9 4 4 5! 5 5 2| i 2 0 5 14 1 2
2%| 3% 3% 1% 1% 1% <1% <1% _ 3%)| <1% 2% 0 1% 2% <1% _ 3%| 1% 1% 6% 27%| <1% 1% 0. 1% 2% 1% 3%
5 25 3; 3 0 5 6 6 8 17] 1 3 4 [3 7 11 7 7 3 15 0| 1 2 1 6 22 1 1
2%)| 2% 2% 0 3% 4% 3% 1%  3%| <1% 2% 5% 1% 2% 2%  5%| 1% <1% _ 16% O <1% 1% 2% 1% 2% 1% 1%
4 5| 3 0; 1 2 o 0; 1 4 1 1 [ 0; [ 3 2| 1 3 1 0| 0; 1 0; 1 4 1 1
<1%| 2% 0 <1% 1% [ 0 <1% <1%| <1% <1% 0 0 0 <1% _ 2%| <1% <1% 1% 0 0. <1% 0 <1% <1% <1% 1%
3 1 1 0 [ 0 1 0 3| 0 [ 0 [ 1 [ 1 1 1 [ 1 0 o 0 o 1 2 0|
<1%| <1% <1% [ 0 0 <1% 0 <1%) [ [ [ 0 <1% 0 1% <1% <1% 0 10%| [ 0 [ 0 <1% 2% [
2 2 [ 0 o 0 2 0 1 1 o 0 o 0 o 1 1 0; 1 0; 0; o 0; o 2 o 0|
<1%| [ 0 [ 0 1% 0 <1% _ <1%| [ 0 [ 0 0 <1% _<1%| 0 <1% 0 16%) [ [ [ 0 <1% [ 0
1~ Certain Not To Vote 20 1 1 3 8 7 [ 7 12) 0 1 0 5 [ 15| 0; o 0; 0| 0; o 0; 1 16 o 4
2%)| <1% <1% 1% 5% 4% 0 1% 2% 0 <1% 0 <1% 1% 0 12%) [ 0 [ 0 [ 0 0 <1% 2% 0 . 4%
Mean score 9.3 9.3 9.5 9.6, 8.9 9.0 96 9.5 9.1 9.7 9.4 9.5 9.6 9.5 9.6 7.8| 9.6 9.6 8.3 6.8 9.7 9.5 9.7 9.7 9.3 9.5 9.0)
Q6. How would you vote in response to the | Base: All likely to vote (8- 521 83 403 401 501 86| 457, 457 71 3 183 162
question: Should Scotland be an 10 at Q5) respondents (506) (70); (419)| (460) (443); (87)| (486); (430) (71)  (3)| (175) (150)
independent country? (8-10 at Q5) Yes 223 10 332 337, 84 36| 457 0 0; 0| 6! 46,
12%  82%)| 84% _17%; 42%) 100% 0 o 0| .. 3% _ 28%
No 265 70 38 44378 35 0 457 [ o 172 98
51% 84%  9%| 11% 75% _ 41% 100% [ 0| 94% _ 61%
Don't know 33 4 33 19 40 12 0 o 71 0| 5! 17
6% 4% 8%| 5% 8% _ 14%) 0 0 % 0. 3%  11%
Would not vote 0 0 0| 0 [ 3] [} o [} [} o
[ [ [ [ 0 a%| [} 0 0._100%)| )] 0
Q6. How would you vote in response to the | Base: All likely to vote (8- 915 132] 150, 172} 128, 145 188 488  426| 218 143 80, 370 382 462 71| 457, 457 [ o 178 1aa a0; 372] 761 85! 69)
question: Should Scotland be an 10 at Q5) respondents, (916) (121) (144) (176) (129)) (154) (192)| (474) (442)| (214) (138) (67) (389)| (437) (409) (70)| (486) (430) (0)  (0)| (170); (134) (36) (400) (712); (140)  (64)
independent country? (8-10 at Q5; excluding undecided
excluding undecided) Yes 85 223 9 51 10 332 337 84 36| 457 [ 0; 0| 6 9320 403; 24 30
67% 4% 12% 18% % 0 o 0. 3% 53%
No 42 209 70 378 35 0 457 [ o 172 358
33% 96% _ 64% _ 88%! 82% _ 49%| 0 100%; [} 0| 97% 68% _78% _14%| 47% _71% _57%

05/05/2020
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[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 6| 189 173 a3 411] o901 98! 87|
(1086)| (146)] (166). (192) (165). (191) (225)| (534) (552)| (232) (171). (74). (438)| (495). (470) (121)| (507) (458) (94). _ (7)| (180). (160) (39): (439)| (842)) (163) (81)
Q7a. If another Scottish Parliamentary Base: All respondents 1086] 161 1720 189 162 182 220| 552 534| 236 175 89 423 431 534 121 478 488 94 6] 189 173 43]  a11] o901 98! 87|
Election was held tomorrow, how likely (1086) (166) (534) (232) (74); (438)| (495) (470); (121)| (507); (458) (94): _ (7)| (180) (160): (39) (439)| (842). (163) _ (81)
would you be to vote? 10 - Certain To Vote 66 336 336 388 47]" 371 352 46; 2 Is3 132 31 347 eaa 76 51
74% . 79%)| 78%; 73% 39%| 78% 72% _A49%! 38%| 81%: 76% _73% _84%| 72% _78% _ 58%
9 6 34 26 44, 12| 31 44 7 0| 15 18 4 23 70 6
7% 8%| 6% 8% 10%| 6% 9% 8% 0| 8% 10% 10% _ 6%| 8% 6%
8 8 24 2 36 11 27 30 12 1 9 10 4 17| 56 [5 8|
9%  6%| 5% 7% _ 9%| 6% 6% 13% _ 9%| 5% 6% 10% _ 4%| 6% _ 6% _ 9%
7 3 13 19 25 8| 20 27 5 0| 5 9 1 12| 46; 1 5|
3% 3%| 4% 5%  7%| 4% 5% 6% O 3% 5% 3% 3% 5% <1% 6%
6 [ 9| 3 19 11 10 15 [3 2| 3 2 0; 9| 24 4 6|
0 2%| <1% 3%  9%| 2% 3% 6% 27%| 1% 1% 0. 2% 3% 4% 6%
5 4 4 10 11 13| 11 11] 11 0| 4 3 2 1 29 1 4
5% <1%| 2% 2% 11%| 2% 2%  12% O 2% 1% 4% <1%)| 3% 1% 5%
4 1 1 2 2 2| 4 1 1 0| 0; o 0 0| 4 2 0|
<1% <1%| <1% <1% _ 2%| <1% <1% 1% 0 [ [ [ 0| <1% 2% 0
3 1 1 1 3 1 2 2 1 1 0; o 0; 0| 1 2 2|
1%  <1%| <1% <1% <1%)| <1% <1% 1% 10% [ 0 [ 0| <1% 2% 2%
2 o 0| 4 4 1 2 2 2 1 0 o 0 0| 8 o 0|
0 0| <1% <1% <1%| <1% <1% 2% _ 16%) [ 0 [ 0| <1% [ 0
1~ Certain Not To Vote 0 1 6 3 16| 1 4 1 0| 0 o [ 2| 19 1 5|
0 <1%| 1% <1% 13%)| <1% <1% _ 1% 0 [ 0 0 <1%| 2% 1% 6%
Mean score 9.3 9.5 9.3 9.2 7.3 9.4 9.2 8.2 6.8 9.6: 9.5 9.4 9.6) 9.1 9.2 8.4
Q7b. Who would you vote for with your Base: All likely to vote (8- 81 394 384 468 70 4200 425 66 3 1777 160 40, 387| 769 88! 65|
constituency vote if a Scottish (67); (410)| (440) (413). (72)| (456); (400) (66)  (3)| (169) (148) (36) (414)| (720). (145) _ (60)
Parliamentary Election took place 6 358 314 97 a1 29 0| 9 30 37 346 392 22 25
tomorrow? (8-10 at Q7a) 7% 91%|  82%:  21% 10%;  44% 0| . 5% _19%; 7% _89%)| 51%
Conservative 13 2 190 160 186 [ 1| 137 11] 7 9 143 26 22
17%  <1%)| 5%  34% 44% 0 20%)| 77%: 7% _17%; _ 2%| 19% _29%  34%
Labour 8 13 27 83 93 10 0| 7 94 0 6 106 13 3|
10%;  3%| 7%  18% 22%;  16% 0| . 4% _59% 0 1%)| 14%  15% 5%
Liberal Democrat 39 2 5 40, 38 1 0| 11 1 19 5| 31 11 3|
48% <1%| 1% 8% 9%: 2% 0| 6% <1% 48%  1%)| 4% 13% 4%
Green 4 5| 8 12 9 2 0| i 4 3! ¢ 17 4 1
5% 1%| 2% 3% 2% . 2% O <1%: 3% _ 8% _ 2%| 2% 4% _ 1%
Other 0 0| 1 6 6 [} 0| [} 2 [} 1 7 1 1
[ of <1% 1% 2% <1% 1% [ [ 0 2% 0 <1%)| <1% <1% 2%
Wouid not vote o 0| o 1 0| 0; 1 0; 0| 0; o 0; 0| 0; o 1
[ 0 0 <1% [ 0. <1% o 0 o [} o 0 o 0 ...2%
Don't Know/ Not sure 8 14) 10 65 10 15 49 21 0| 13 18 6 14] 65 11] 9|
10%  3%)| 3% 14% 15%| 4% 12%  32% Ol 7% 11% 15%  4%)| 8% 13% _ 14%
Prefer not to say 1 0| 2 4 3 2 2 2 2| [} o 1 1 9 o 0|
2% 0| <1% <1% 5%| <1% <1% 3% 80% [ 0 4% <1%| 1% [ 0
Q7b. Who would you vote for with your Base: All likely to vote (8- 827| 114 143 162 115 127 165 451  376| 193 136 71, 381 373 398 56| 412 373 a2 1| 164 142 32] 372] 695 76 55
constituency vote if a Scottish 10 at Q7a) respondents, (833) (106) (138) (166) (117). (135) (171)| (439) (394)| (188) (134) (59) (398)| (426) (349) (58) (441) (349) (42) (1)| (156); (132) (29) (398) (655) (127) (51)
Parliamentary Election took place i i
tomorrow? (8-10 at Q7a; excluding SNP 439 65 78 70 89 69 67| 235 204 10 40 6 358 314 97 277 369 41 29 0| 9 30 3346|302 2 25
undecided) 53%| 57% 55%. A43% _78% 54% _41%)| 52% _54%)| 5% _30% __ 8% _94%| 84% 24% _48%)| 90% 11% _69% 0| 5% 21% _ 9% _93%)| 56% _29% _45%
Conservative 191 22 30 46 8 29 55| 118 72 169 3 13 pl 19 160 12 4186 0 1137 11] 7 9 143 26 22
23%| 19%: 21% 28% 7% 23% 33%]| 26% _19%| 88% 2% _19% <1%| 5% _40% _22%| 1% _50%) 0 100%)| 84%: 7% _21%:  2%| 21% _34% _40%
Labour 123 19 23 33 9 15, 24 55 68 10 84 13| 27 83 13 19 93 10; 0| 7 94 0 6106 13 3
15%)| 17% 16% _20%; 8% _12%: 15%| 12% _18%| 5% _62%; 12% _ 3%| 7% _21% _24%| 5% _25% _24% 0| 4% _66% 0 1%)| 15%: 17% 6%
Liberal Democrat 45 2; 8 9; 3 10 12] 27 17| 1 1 39 5 40 0| 6: 38 1 0| 11 1 19: 5| 31 11 3|
5%| 2% 6% 6% 2% 8% _ 8%| 6% _ 5%| <1% <1% 55% _<1%| 1% _ 10% o 1% 10% 3% 0| 6% <1% 60%  1%)| 4% 15% 5%
Green 22 5 1 1 5 4 4 13 8| 1 4 4 8 12 2| 11 9 2 0| 1 4 3 6| 17 4 1
3%| 4% <1% <1% 5% 3% _ 3%| 3% _ 2%| <1% _ 3% _ 6% _ 1%| 2% _ 3% _ 4%| 3% _ 2% _ 4% 0| <1% 3% 10% _ 2%)| 2% 5% _ 2%
Other 8 1 2 3 0 0 2 2 7 2 3 0 0| 1 1 2: 6 0; 0| 0; 2 0; 1 7 1 1
1%| 1% 1% 2% [} 0 1%| <1%  2%| <1% 2% 0 of <1% 2% 2%| <1% 2% 0 0 0 2% 0 <1%| <1% <1% 2%
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05/05/2020

[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 6| 189 173 a3 411] o901 98! 87|
(1086)| (146)] (166). (192) (165). (191) (225)| (534) (552)| (232) (171). (74). (438)| (495). (470) (121)| (507) (458) (94). _ (7)| (180). (160) (39): (439)| (842)) (163) (81)
Q7c. And who would you vote for with your | Base: All likely to vote (8- 922| 124] 151 176] 126 148 197| 495 427| 216 158 81 394] 384 468 70 4200 425 66 3] 177 160 0. 387| 769 88! 65|
regional vote? (8-10 at Q7a) |10 at Q7a) respondents (925) (114): (145). (179) (67); (410)| (440) (413): (72)| (456); (400) (66):  (3)| (169) (148) (36) (414)| (720). (145) (60)
SNP 401 55 69 64 70 329283 94 247335 37 28 0| 8 35 37 308359 20 21
43%)| 44% 46% _37%  67% _A45%. 32%| 42%; 45%| 4% 23%. 9% _84%| 74% 20% 34%| 78% _ 9% _ 43% 0| 5% 22% _ 7% 80%)| 47% 23% _33%
Conservative 184] 20 29 48 9 27 52| 112 73| 162 4 14 2 15, 157 13| 2182 0; 17 a1 11 5; 77138 28 18
20%| 16%: 19% 27%: 7% 18% 27%]| 23% 17%| 75% 2% 17% _<1%| 4% 33% 19%| <1% _ 43%) [ 7% 11%;  2%| 18%: 32%
Labour 121 21 20 30 10 13 26 48 72 12 86 4 11] 27 82 12 20 90 11 0| 6 86 0 6 104 11] 6|
13%)| 17%  13% 17%; 8% 9% 13%| 10% 17%| 5% 54%; 4% _ 3%| 7% _17% _17%| 5%  21% _ 16% 0| 3% _ 54% 0. 2%)| 13% 12% 9%
Green 59 11] 13 10, 10 5 9| 39 20 4 11 6 29 32 23 4 39 15 4 0| 1 8 5 35 45; 9 6|
6%| 9% 9% 6% 8% 4% 5%| 8% 5%| 2% 7% 8%  7%| 8% 5% 5% 9% 4% 7% 0| <1% 5% 12%  9%)| 6% 10% 9%
Liberal Democrat 53 6 9 9 k! 12 14] 37 1§ 5 2 a2 2 7 44, 2| 5; 47 1 0| 11
6%| 4% 6% 5% 3% 8%  7%| 7% _ 4%)| 2% 1% 52% <1%| 2% 9% _ 3%| 1% 11% 2% 0| 6%
Other 12) 1 3 5 [ 1 p) 4 7! 3 3 0 3 7 1 4 7 1 0| 0
1%| <1% 2% 3% 0 <1%  1%| <1%  2%| 1% 2% 0 <1%| <1% 2%  2%| <1% 2% 2% [ [
Wouid not vote 0| [ 0 o 0 [ 0| o 0| o 0 o o 0 0| 0; o 0 0| 0;
0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 [ 0 0 0 0 [ 0 [
Don't Know/ Not sure 85 8 8 7 10 21 31 47 38 22 16 6 19) 16 57 12| 21 45 18 0| 11
9%| 6% 5% 4% 8% 14% 16%| 9%  9%| 10% 10%: 8%  5%| 4% 12% 17%| 5% _ 11% o 6%
Prefer not to say g 2 [ 2 [ 3 0| o 8| o i 1 0| 2 4 2| 2 2 i 2| 0
<1%| 2% 0 1% 0 2% 0 0 2% 0 <1% 2% 0| <1% <1%  3%| <1% <1% 2% _80% 0
Q7c. And who would you vote for with your | Base: Al likely to vote (8- 830 114 143 166, 116, 124 166| 448 382 194 141 73] 375 367, 407 56] 406 378 a6 1| 166
regional vote? (8-10 at Q7a; excluding 10 at Q7a) respondents, (836)| (106); (137). (170) (119); (132) (172)| (437) (399)| (190) (139) (61) (392)| (419); (359) (58)| (433) (355) (47); (1)| (159)
undecided i i
) SNP 84 66 63| 208 193] 8 36 70329 283 94
72% 51%)| 4%  25% _10%: _88%)| 77% _ 23%
Conservative 9 27 52| 112 73| 162 4 14 2 15 157
8% 22%; 32%| 25%: 19%| 84% 3% 19% <1%| 4% _ 38%
Labour 10 13 26 48 72 12 86 4 11] 27 82
9%; 11% 16%| 11%: 19%)| 6% 61%: _ 5% _ 3%| 7% 20%: _22%| 5% 24% 23% o . 3%
Green 10 5 9| 39 20 4 11 6 29 32 23 4 39 15 4 0| 1
9% 4%  5%| 9% _5%| 2% 8% _ 8% _ 8%| 9% 6% __ 6%| 10% _ 4% _10% o <1%
Liberal Democrat 3 12 14 37 1§ 5 2 22 2 7 44, 2| 5: 47 1 0| 11
3% 9%  8%| 8% _ 4%| 3% 1% 57% <1%| 2% 11% _ 3%| 1%  12% 3% ol 7%
Other [ 1 2] 4 7! 3 3 0 1 3 7 1 4 7 1 0| [
0 <1%  1%| <1% _ 2%| 1% 2% 0 <1%| <1% 2%  2%| <1% 2% _ 2% [ [
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[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCL | C2DE | CON | LAB Lib Dem] SNP |Ivoted | Ivoted| 1did | Yes | No | Don't | Would | CON | LAB iLibDem| SNP |Scotlan|England] Other
1A24 | 2664 | SR v 1Aad vam.sa v ER. Yoe | Nn _natvatal Lnow i notunta P
Total 1086| 161 172, 189 162 182  220| 552, 534 236, 175 89  423| 431 534 121| 478 488 94 189 173 43 411 901 98 87
(1086)| (146). (166) (192) (165) (191) (225)| (534) (552)| (232) (171) (74) (438)| (495) (470) (121)| (507) (458) _(94) _ (7)| (180) (160) (39) (439)| (842) (163) (81)
QIT. In a recent trial at the High Court, former | Base: All respondents 1086] 161 172, 189, 162 182  220| 552 534 236| 175 89 423| 431 534 121] 478 488 94 6| 189 173 43 411 901, 98 87
First Minister Alex Salmond was acquitted on all (1086)| (146) (166) (192) (165) (191) (225) (534) (552)| (232) (171) (74) (438)| (495) (470) (121)| (507) (458) (94)  (7)| (180) (160) (39) (439)| (842) (163) (81)
of a number of charges of sexual assault. By
court order, the names of his accusers may not
be published. T¢ 15 NOT an offence Just to KNOW |VE8 3 23 17 13 14 7 10 3704 13 18 5 34| 50 73 [ ] 5 7 [ i1 iz i 41] 71 3 §
their names, only to publish them. Do you 8%)| 14% 10% 6% 9% 4%  5%| 7% 8%| 5% 10% 5%  8%| 12% 4%  7%| 10% 5% 7% 0. 6% . 7% . 3% 10%| 8% _ 6% 7%
believe that you personally know the identities of |No to0a] 130 isa 177 ias 175 210]sisase| 2240 157 8a 388|381 511 112|429 463 87 o 178161 42" 370 830 92 81
any of the accusers? 92%| 86% 90% 94% 91% 96% 95%| 93% 92%| 95% 90% _95% 92%| 88% 96% 93%| 90% 95% 93% 100%| 94% _93% 97% 90%| 92% 94% _93%
Q11a. How did you discover or deduce the |Base: Yes at Q11 82| 22 17 12 14 7. 10| 37 45 12, 18 5. 36 50 23 o[ a9 25 7 o 11 12 1 41 71 G G
identity of the accuser or accusers? (84)| (21) (18) (12) (15) _ (7) (1) (38) _(46)| (12) (18)  (5) (38) (56) (20) _ (8) (53) (23) (7). (O)| (10) (12) _ (2) (45) _(70) _ (9) _ (5)
Via newspapers, newspaper ) 10 7 7 8 5 5 16 2| 5 8 2 20 29 7 5 28 10 3 0 3 8 0 23 38 2 2
websites or newspapers’ social | 51%| 47%. 42% 59% 53% 69% 53%| 44% 57%| 42% 45% 39% 56% 59% 31% 61%| 56% 42% 42% o 28% 61% 0 55% 53% 41% 38%
bs
Via an independent website or 24| 6 5 4 6 0 F 10 14 5 7 2 8 14 E 1] is 7 p 0 7 5 1 5 19 i 4
blog, including their social 29%| 30% 30% 33% 44% 0 23%| 28% 30%| 40% 38% 47% 23% 28% 37% 14%| 30% 29% 31% o 68% 43% 56% 22% 27% 23% 62%
media
Via TV or radio outiets, or their i9 i 6 3 3 i i 7 2 3 5 i 8 11 6 3 i3 5 i [ i 5 i [ 16 3 o
websites or social media 23%| 17% 32% 18% 15% 18% 42%| 20% 26%| 14% 25% 14% 22% 22% 24% 25%| 26% 21% 12% o 5% 38% 44% 21% 23% 52% o
Via friends or others by direct is 7 b 2 3 1 1 8 7 5 3 1 6 10 5 1] 10 4 p 0 5 i o 8 2 b 1]
personal contact (including 19%| 31% 13% 13% 19% 13% 14%| 23% 15%| 39% 17% 30% 18% 19% 20% 14%| 19% 16% 27% ol 49% 7% 0 19% 17% 30% 25%
their. social media)
Other E i i i o o o 3 i i o 3 3 3 i [ 3 i o [ i 3 3 3 3 o
a%)| 5% 6% _10% 0 o o| . 5% . 3%]| 10% 0 0 .. 6% 4% 5% o . 4% 5% 0 ol 11% 0 5%, 5% 0 0
NET Newspapers/ TV or Radio 54 12 11 8 9 6 9 21, 33| 6 2 2 24 35 11 8 33 16 4 0 3 10 277 ag 4 2
66%| 53% _63% _69% _62% _87% _86%| 56% _74%| 52% _66% _53% _66% _70% _49% _86%| 68% _64% _54% o 28% 81% 65%. _67% _74% _38%
Q14. Do you believe, as has been suggested| Base: All respondents 1086 89] 423 431 534  121| 478 488 94 6| 189 173 a11] o1, 98 87
by some commentators, that there was a (1086) (94)___(7)| (180) (160) (439)| (842) (163) _ (81)
conspiracy involving senior SNP figures and [Ves 39| 4 o 31 57 128505 16 i1
Scottish civil servants to have Alex Salmond 210 15% ol 17%  16% 3100|220  16% 129
convicted of crimes he was found innocent  [io 218 % 1 " Toa 84 126330 23 3¢]
of? 38% 28%  19%)| 55%  48% 31%|  38% _43% _42%
Bon't know 439 53 5 1577360 39
40% 57% _81%| 28%  36% 38%|  40% 40% _ 46%
Q15. Please consider the following Base: All respondents 1086| 161 172, 189 162 182  220| 552, 534 236| 175 89  423| 431 534  121| 478 488 94 6| 189 173 211 o1 98 87
hypothetical scenario: the SNP issue a (1086)| (146) (166) (192) (165) (191) (225)| (534) (552)| (232) (171) (74) (438)| (495) (470) (121)| (507) (458) (94)  (7)| (180) (160) (439)| (842) (163) (81)
egally-binding commitment that in the Yes 389 77 83 62 61 49 S5 192197 21 55 14249 264 94 33[7EEL 43 14 1] i5 51 250( 338 23 28
ien‘/;e“te‘:‘f 2 Yes vote f;iruscsff:ahhenﬂ 3 27% 37%| . 9%  32% 15%  59%)| 61%:  18% 9 9% 15%  9%| 8% 299 61%|  38% . 23%  32%
e e iy o e No 435 52 63 98 49 74100 256 179 187 84 55 62| 50 334 42) 42371 14 of 150 92 74" 342 52 a1
oarment e pom ot o 40%| 320 37% 52% _30% _41% _45%| 46% _ 34%| 79% _48% _62%  15%| 14% _62% _35%| 9% _76% _15% ol 80% 53% 18%| 38%  53%
Paatintions are canciuded T thet event, | BONE know 267 32 26 29 52 59 65| 103 158 28 36 217119 0s T 107 47]" 105 75 65 6 24 31 88 221 23 17
' ! ' 24%| 20% 15% 15% 32% 33% 29%| 19% 30%| 12% 20% _23% _27%| 25% _20% _39%| 22% _15% _70% _91%| 13% _18% 21%]| 25%  24%  20%
Q17. Has the coronavirus pandemic made | Base: All respondents 1086| 161 172, 189 162 182  220| 552, 534 236| 175 89  423| 431 534  121| 478 488 94 6| 180 173 43 411 o901, 98 87
any difference to your view on Scottish (1086)| (146) (166) (192) (165) (191) (225)| (534) (552)| (232) (171) (74) (438)| (495) (470) (121)| (507). (458) _(94) _ (7)| (180) (160) (39) (439)| (842) (163) _ (81)
independence? T'm niow more in favour of 264 45 53] 327 ag a7 Tad T 29T 138 13 36 717 1737 162 74 28] 231 18 is 0 9 28 77 67 222 18 24
i 24%|  28%  31%  17% . 30%  23% 20%)| 23% _25%| 5% _ 21%  13% 41%| 38% _ 14% 23%| 48% 4% 16% 0| . 5% . 16% . 17%. . 41%|  25%) _19%  27%
T'm now more opposed to 179 27 28 31 23 32 39 97 82 79 30 25 19 20132 17| 10 155 10 1 58 39 11 20| 144 18 16
e 16%]| 17%  16% 16% 14% _18% _18%| 18% _15%| 33% 17% 28%  5%| 7% 25%  14%| 2% 32% 11%  9%| 31% 220% 26% _7%| 16% _19% _ 18%
It has made no difference 643 89 ot 126 et 108 137326 3177 145 109 52230 240 328 75| 237 518 69 6| 1227 106 25316 535 62 4
59%| 55% 53% _67% 56% _59%) 63%| 59% 59%| 61% _62% _59% _54%| 56% _61% _62%| 50%) _64% _74% 91%| 65% _61% _57% _53%| 59% _63% _54%
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[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 6| 189 173 a3 411] o901 98! 87|
(1086)| (146): (166): (192) (165) (191) (225)| (534) (552)| (232) (171); (74) (438)| (495) (470). (121)| (507). (458). (94) (7)| (180). (160); (39) (439)| (842): (163) (81)
Q18. How do you rate the Scottish Base: All respondents 1086 172 189, 162 182 89 423 431 534 121 478 4s8 94 6| 189 173 437 a11] o901 98! 87|
Government and the UK Government's (1086) (166); (192) (191) (74) (495); (121)| (507) (458). (94) (7)|_(180) (160); (39) (439)| (842) (163)  (81)
handling of the coronavirus pandemic? 10 - Extremely good 11 103 25 9; 1| 12! 14 1 90| 121 10. El
...The Scottish Government 19%| 6% 8% 2% 2200 13% 10% 9%
9 1 17 13 4 61 96 11] 3|
19%| 9% 7% 9% 15%| 11% 11% 4%
8 0| 36 40 10 96 195 18 1§
0| 19% 23%;  24%  23%]| 22% 18% _ 19%
7 1 27 34 10 54 135 17 17
19%| 14%; 20% 23%: 13%]| 15%: 18%
6 2| 21 20 9 31 89 12 14)
27%|. 11%  12%; 21%  7%]| 10%: 12%  16%
5 27 19 5 a1 11T 13 14
16%| 14%; 11% 11% 10%]| 12% 13%  16%!
4 13 10 0; 19| 50 3 6|
0| 7% . 6% 0 5% 6% _ 3% 7%
3 0| 16 5 2 7] 43, 5 5|
Ol 9% 3% 5% 2% 5% 5% 6%
2 0| 2 10 0 3| 18 4 0|
0| 1% 6% 0. <1%)| 2% 4% [
1 0| 7 5 2 [ 20 2 0|
O 4% 3% 4% _ 1%| 2% 3% [
0 - Extremely bad 0| 10 1 i 5| 2 3 2
0| 5% <1% 1% _ 1%]| 2% 3% 3%
NET 7-10 92 102 25301 547 56 45
______ 57%| 49%: 59% 57%: 73%| 61%: _57% _51%!
NET 4-6 3| 61 50 14 91251 28 35
43%)|  33%: 29%; 32% 2
NET 0-3 0| 36 21 5 20 103: 14 7!
0| 19% 12%; 11%  5%]| 11% 15% 8%
Mean score 7.4] 5.9 6.5 6.5 7.5 6.7 6.5 6.4
Q18. How do you rate the Scottish Base: All respondents 6 901 98! 87|
Government and the UK Government's 7 (842) (163)  (81)
handling of the coronavirus pandemic? 10~ Extremely good 1 57 6 4|
...The UK Government 199 6% 6% 5%
9 1 73 7 6|
19%| 8% 7% 7%
8 1 111 14 6|
9% 12%;  14%; . 7%
7 1 95 16 16
10%)| 11%;  16%:  18%
6 1 93 8 10
9% 10%; 8%  11%
5 1 112! 10 9|
16%)| 12%;  10%;  11%
4 0| 74 9 7!
0 8% 9% 8%
3 0| 84 10 12)
[ 9% _ 10%; 13%
2 1 71 7 7!
18%) 8% 7% 8%
1 0| 57 4 1
[ 6% 4% 1%
0 - Extremely bad 0| 74 8 9|
[ 8% 8% 10%
NET 7-10 4 336 43 32
57% 37%: 44% _ 37%
NET 4-6 2| 279 27 26
25% 31%:  27%
NET 0-3 1 286 29 29
18% 32% 29%  33%
Mean score 6.7] 5.2 5.3 5.0)
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Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 6| 189 173 a11| o901 98! 87|

43
(1086)| (146): (166): (192) (165): (191) (225)| (534); (552)| (232); (171) (74); (438)| (495); (470): (121)| (507): (458) (94) (7)] (180): (160) (39); (439)| (842): (163) (81)

Q19. Broadly speaking, do you agree or Base: All respondents 1086 161 172 189 162] 182] 220| 5520 534| 236 175 89 423 431] 534 121] 478 488 94 6 189 173 437 411] 901
disagree with the following statements? (1086)| (146): (166) (192): (165) (191) (225)| (534) (552)| (232) (171); (74). (438)| (495); (470). (121)| (507) (458); (94) (7)] _(180): (160); (39) (439)| (842)
-..The current coronavirus lockdown is too  Agree 130 27 26 17 22 25, 12 68 62| 37 18 10 43| 51 66: 13 58; 64 8 1 22 18 6 a4 111
severe 12%| 17%: 15%; 9% 14% _14%;  5%| 12%; 12%| 16% _10% _11% _10%)| 12% 12% 11%| 12% 13% 8% _ 9%| 12%: 10% _13% 11%)| 12%
Disagree 893 117, 141 158; 127 148 201 459 435 187, 148 74 360 358 439 96| 389 398 84 3 155 147 330 346 739
82%| 73%; 82% 83%: 79% _81% 92%| 83% _81%)| 79% 85% 83% _85%)| 83% _82% _79%| 81%: 82% _89%: 53%| 82% 85% _77% _84%)| 82%
Don't know 62| 16 4 14 12 9 7 25; 38| 12 9 5 21 22 28; 12| 31 26 2 2) 11 8 4 21] 50;
6%| 10% 2% 7% 8% 5% _ 3%| 5% _ 7%| 5% 5% 6% _ 5%| 5% 5% 10%| 6% 5% _ 2% 38%| 6% 5% 9% _ 5%| 6%
Q19. Broadly speaking, do you agree or Base: All respondents 1086 161 172 189 162] 182] 220| 5520 534| 236 175 89 423 431] 534 121 478 488 94 6 189 173 87
disagree with the following statements? (1086)| (146): (166). (192) (165) (191) (225)| (534) (552)| (232) (171) (74). (438)| (495) (470) (121)| (507). (458) (94) _ (7)| (180) (160) (81)
-..The current coronavirus lockdown is too  [Agree 438 65. 77 69 66. 81, 80| 211 227] 80 73 36 189 199 199 39 2300 167 31; 5| 57 74 30)
relaxed 40%| _40%; 45%: _36%; 41% _45%; _36%| 38% _42%)| 34% _42%; 40% _45%)| A46% _37%; 32%| A48%; 34% _33%; 71%)| 30% _43% 34%
Disagree 561 82, 90 106 76 83; 123 2970 265 134 97; 47. 202|208 284 70| 2130 280 56; 1 114 90 45|
52%)| 51% _53%; 56% _47%; _46% _56%]| 54% _50%| 57% _55%: _53% _48%| 48%; 53% _58%]| 45% _57%; 60%: _10%]| 60%: _52% 52%.
Don't know 87| 14 5 14 20, 17 17 44 43| 22 5 6 32 24 51 12| 35; 42 7 1 19 9 12
8%| 9% 3% 7% 12% 9% _ 8%| 8% 8%| 9% 3% 7% 7%| 5% 10% 10%| 7% 9% 7% 19%| 10% 5% 14%
Q19. Broadly speaking, do you agree or Base: All respondents 1086 89 431 534] 121 478 488 94 87
disagree with the following statements? (1086) (74) (495): (470) (121)| (507); (458)  (94) (81)
...Policing of the lockdown has been Agree 187 10. 83 84 20| 91 84 10 19
overzealous 17% 11%; 19%; 16%: 17%| 19%: 17%;  11% 22%
Disagree 725) 61; 281 370 74 3170 328 65; 58|
67%| 68% 65%: 69%: 61%)| 66% 67% _69% 66%.
Don't know 174 18 67 80; 27| 69 76 19 10
16%| 20% 16%  15% 22%| 15% 16%  20% 12%
Q19. Broadly speaking, do you agree or Base: All respondents 1086 1617 172] 189 162] 182] 220| 552] 534| 236 175 89 423 431] 534 121 478 488 94 6 189 173 437 4a11] o901 98 87
disagree with the following statements? (1086)| (146): (166) (192) (165) (191) (225)| (534) (552)| (232) (171) (74). (438)| (495) (470). (121)| (507) (458). (94) (7)|_(180) (160); (39) (439)| (842) (163)  (81)
-..People are worryingly eager to sacrifice  [Agree 412 60 65: 76 64 73 741930 220) 85 71 297 158|163 204 46| 166; 200 36 2| 67 69 1s] 154|347 34 32
their liberties and those of others during an 38%| 37%; 38% _40%; 40% _40% _ 34%)| 35% _41%)| 36% _41%; 33%; 37%| 38%; 38% _38%| 35%; 41% _39%;  28%| 36%; 40%; 35%;  37%)|  39%:  34%; . 37%
emergency Disagree 410 72, 70; 73; 50; 59 86| 236 174 97 72; 39 161] 157, 209 43 188 185 31 2| 78; 73 19 156 321 44 45|
38%)| 45% _40%: 39% _31% 32% _39%]| 43% 33%| 41% 41% 44% 38%| 36%: 39% _36%| 39% _38% 33% _27%| 41% _42% _44%: _38%| 36% _45% _52%
Don't know 264] 29 37 40, 48 50 60| 123 141] 55 32 200 04| 11l 121 32125 104 26 3] 44 31 9102|233 21, 10
24%)| 18% 21% 21% 30%; 27% 27%| 22% 26%| 23% 19% _23% _25%| 26%; 23% _26%| 26% _21% _28% 44%| 23% 18% 21% _25%| 26% 21% 12%
Q19. Broadly speaking, do you agree or Base: All respondents 121|  478] 488 94 6 189 173 87
disagree with the following statements? (121)| (507) (458). (94) (7)|_(180): (160), (81)
...The Scottish Government has stuck too  [Agree 26| 178 98 18 3] 30; 54 28|
closely to the UK government's coronavirus 21%| 37% 20% 19% 46%| 16% 31% 329
strategy Disagree 63| 230 303! 50; 1| 127: 103 44
52%| 48%; 62% 53%  9%)| 67% _ 60% 51%.
Don't know 32| 71 88 26; 3| 32, 17 15
27%| 15% 18% 28% 44%| 17% 10% 17%
Q19. Broadly speaking, do you agree or Base: All respondents 1086 161 172] 189 162] 182 220| 5520 534| 236 175 897 423 431 534 121 478 488 94 6| 189 173 43 411] o901 98 87
disagree with the following statements? (1086)| (146). (166) (192)' (165) (191) (225)| (534) (552)| (232) (171) (74) (438)| (495) (470). (121)| (507) (458) (94) (7)|_(180) (160); (39) (439)| (842) (163)  (81)
--.The Scottish Government has diverged  [Agree 154] 34 28 18 19 32 25 66 88 65 24 10 35 40 91 23 46; 97 8: 2| 48; 32 4 377 132 13 9|
too much from the UK government's 14%| 21%: 16%. 9% _12% _17%; 11%| 12%; 17%| 27%; _14% _12% _ 8%)| 9% _17%: _19%| 10%: _20% _ 8%; _28%| 26%; _19%: 10% _ 9%)| 15% _13%; _ 11%
coronavirus strategy Disagree 758|105 129, 147 108 117 151 416 342 139 130 57 335 331 354 73 373 303 67 2[ 108 120 31 334 628, 70 59
70%)| 65% _75%; 78% _67%; _64% _69%]| 75% _64%| 59% _74% _63% _79%| 77%; 66% _60%| 78% _62%: _72% _27%| 57% _69% _72%: _81%| 70%: _72% _68%
Don't know 174 22 15 24 35! 34 44| 70, 104 32 22 22 54 60 88! 25 59 89 18 3| 32 21 8 40| 141 15 18
16%| 14% 8% 13% 22% 19%; 20%| 13% 19%| 14% 12% 25% 13%| 14% 17% 21%| 12% 18% 20% 44%| 17% 12% 18% 10%| 16% _15% _21%
Q19. Broadly speaking, do you agree or Base: All respondents 1086 161 172 189 162] 182 220| 552 534| 236 175 89 423 431 534 121] 478 488 94
disagree with the following statements? ...A (1086)| (146): (166) (192) (165) (191) (225)| (534) (552)| (232) (171) (74). (438). (495) (470). (121)| (507) (458)  (94)
Universal Basic Income should be Agree 651] 101! 120 106 101, 107 116|307 345 93; 105 37, 313 311, 269 71| 357 235 50;
introduced for the duration of the crisis, 6 70%  56% _62%: _59%: 53%)| % 74%.  72% 75%, _48% _ 53%
rather than the current range of Disagree 163 33, 19 40, 23 19 29| 101 62| 73 31 14 32 45, 104 15 40 112 7
government schemes to mitigate financial 15%)| 20%: 11%: 21% 14%: 11% 13%| 18%: 12%| 31% 17%: 15% 7%; 10%  19%:  12% 8% 23% 8%
losses for businesses and individuals Don't know 271 27 32 43 38 56 75| 144 127] 70 40 38 79 75 162; 35 81 141 37

25%| 17% 19%: 23% 24%: 31%: 34%| 26%: 24%| 30%: 23% 43% 19% 17% 30%: 29%| 17%: 29% 39%
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Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4

Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 189] 173 a3 411] o901 98! 87|
(1086)| (146): (166): (192) (165) (191) (225)| (534) (552)| (232) (171); (74) (438)| (495) (470). (121)| (507). (458). (94) (7)| (180). (160); (39) (439)| (842): (163) (81)
Q19. Broadly speaking, do you agree or | Base: All respondents 1086 172 189 162 182 220| 552 534 236 175 89 423 431, 534 121] 478 488 94 6] 189 173 43] 411 901 87|
disagree with the following statements? ...A (232); (171) _(74); (438) (495). (470): (121)| (507); (458)  (94) (7)]_(180): (160): (39): (439); (842) (81)
Universal Basic Income should be Agree 63 92 300 259 265 296 185 36 2) 49 94 14 250, 442 37,
introduced permanently 27%;  53%: 34%;  61% _61% 62%: 38% 38%: 38%| 26% _54% 33% _61% _49% 42%
Disagree 120 42 29 65 76 81 44 12 71 231 32
51% 24% 32%; 15% _ 18% 17% 25%  27%;  17% 37%
Don't know 53 a1 30100 90 101 35 17 90 18
22% 23% 34%  24% 21% 21% 20%;  40% 22% 21%
Q19. Broadly speaking, do you agree or | Base: All respondents 1086 161, 1720 189, 162 182, 220| 552, 534] 236 175 89, 423 431, 534 121] 478 488 94 6| 189 173 a3] 411 o901 98! 87|
disagree with the following statements? ...1 (1086)| (146): (166): (192): (165): (191): (225)| (534); (552)| (232): (171): (74) (438) (495) (470). (121) (507): (458): (94) (7)] (180): (160): (39): (439) (842) (163) (81)
feel able to cope with lockdown indefinitely [Agree 532] 7 86 112 58; 86  114| 2681 264 128 75; 40, 223 2337 257 42 242 244 35; 5| 107 80 200 212|450, 46 35
49%)| 48% _50%: 59% _36%: _47% _52%| A48%; 49%| 54%; 43% _A45% _53%| 54% _A48%: 35%| 51%; 50% _37%: _72%| 57% _46% _A47%: _52%)| 50%: _47%; 41%
Disagree 401 67 61 44 88 72 67 2100 191 74 71 38 145|138 202 61 175 179 37 2| 58 64 16 142) 319 37 45
37%| 42%: 35% 23% 54%: 40% _31%| 38% 36%| 31% _40% _42% 34%| 32% _38% _51%| 37% 37% _40%: 28%| 31%: 37% _38% 34%| 35% _38% _52%
Don't know 153 17 25! 33; 16 24 39) 74 79| 35, 29 11 55| 60! 76; 18| 61 65 22 0 23 30, [3 57/ 132 14 7
14%)| 11%  14% 17% 10% 13% 18%| 13% 15%| 15% 17%: 13% 13%| 14% 14% 15%| 13% 13% 23% 0| 12% 17% 15% 14%)| 15% 15% _ 8%
Q19. Broadly speaking, do you agree or | Base: All respondents 1086| 161 1727 189 162, 182 220 236 175 89, 423 478 488 94 6| 189 173 43] a11] o901 98! 87|
disagree with the following statements? ...I (1086)| (146); (166) (192) (165) (191) (225)| (232) (171); (74) (438) (507) (458); (94) (7)| _(180) (160); (39) (439)| (842) (163)  (81)
want lockdown to be over before the end of [Agree 646 108 96 112 117 98 114 143 108 49 243 267 305 61 2| 114 109 20 225 534 56 55
summer 59%| 67%; 56% 59%: _72%: 54%: _52% 60% 62%: _55%; 57% 56% 63% 65%; 38%| 60%: 63% 47%; 55%| 59%: 57%  64%
Disagree 213 30 38 38 19 44 43| 48 35 15 88 105! 88 11 3 37 31 8 91175 19 18
20%| 18%: 22% 20% 12% 24% _20% 16%  21% 22%  18% 11% 44%| 20%: 18% 19%: 22%| 19%: 20%  21%
Don't know 228 23 38 39 26 40 63 26 93 106! 94 22 1 38 33 15 95191 23 14)
21%)| 14% 22% 21% 16% 22% 29% 29%;  22% 22%  19% 24%: 18%| 20%: 19% 35%: 23%| 21% 23% 16%
Q19. Broadly speaking, do you agree or | Base: All respondents 1086 161 172 189 162] 182] 220| 5520 534| 236 175 890 423 431 534 121| 478 488! 94 6| 189 173 43 411 901 98 87
disagree with the following statements? ...I (1086)| (146). (166) (192)' (165) (191) (225)| (534) (552)| (232) (171) (74) (438). (495) (470). (121)| (507) (458) (94) (7)|_(180) (160); (39) (439) (842) (163)  (81)
would prefer the NHS to be properly funded [Agree 993 135 1S5, 177 149 171 205 500 493 202 165 81 403 403] 486 103 444 438 90 161, 161 37389 825 94 74|
rather than applauded every Thursday 91%)| 84% _90%: 94% _92% 94% _93%| 91%; 92%| 86%: 94% 91% _95%: 94% _91%: 85%| 93%: 90% 96% _65%| 85% _93% _87% _95%; 92% _96%; 85%
Disagree 40| 14 8 6 3 5 5| 17 23] 13 8 3 7 11 20, 10 15 21 2 1 10 8 3 9 33; 2 5|
a%| 9% 5% 3% 2% 3%  2%| 3% 4%| 6% 5% 4% 2% 2% 4% _ 8%| 3% 4% 3% 19%| 5% 5% 6% 2% _ 4% _ 2% 6%
Don't know 53 12 9 6 10 6 10 35 18 21 2 5 13 17 28! § 19 30, 1 1 18 3 3 13 44 2 K
5%| 7% 5% 3% 6% 3% 5%| 6% 3% 9% 1% 6% 3% 4% 5% _ 7%| 4% 6% _ 2% 16%| 9% 2% 7% 3% _ 5% _ 2% _ 8%

Q19. Broadly speaking, do you agree or
disagree with the following statements?
..Brexit should be delayed because of the
crisis

Base: All respondents

Agree

Disagree

Don't know

disagree with the following statements?

Q19. Broadly speaking, do you agree or | Base: All respondents 1086 161, 1720 189, 162, 182, 220| 552 534] 236 175 89, 423| 431, 534 121] 478 488 94 6] 189 173 a3] 411 o901 98! 87|
disagree with the following statements? (1086)| (146); (166). (192) (165). (191) (225)| (534) (552)| (232) (171) (74) (438)| (495). (470) (121)| (507) (458) (94).  (7)| (180); (160) (39): (439) (842): (163)  (81)
...Next year's Scottish Parliament election  [Agree 96|
should be postponed 27%
Disagree 502|
46%
Don't know 288|
27%
Q19. Broadly speaking, do you agree or | Base: All respondents 1086

...Life will be back to normal by next year [Agree
Disagree
43%
Don't know 344
32%
Q19. Broadly speaking, do you agree or | Base: All respondents 1086] 161 1720 189 162 182 220| 552 534] 236 175 89 423 431 534 121 478 488 94 6| 189 173 437 411] 901 98 87
disagree with the following statements? ...I (1086)| (146). (166) (192) (165) (191) (225)| (534) (552)| (232) (171); (74) (438)| (495) (470) (39); (439)| (842) (163) (81)
would be prepared to have an app on my  [Agree 589 80 89 108 100 100 112 330; 259 132 107 57 219 214; 308! 24 214] 484 54 51
phone that tracked my location and who I 54%| 50%; 52% 57%; 62%: _55%;  51%)| 60% _ 48%)| 56% _61%; 64%;: 52%| 50%; 58% 55%; . 52%)| . 54%; 55%;  59%
met in order to combat the coronavirus Disagree 345 65! 62; 55 47 51 65| 148; 197} 75 46 13 146 157, 147; 9; 137| 284 33 27|
32%| 40%: 36% 29%: 29%: 28% 29%)| 27% _37%| 32% 26% _15% _34%| 36%: 28% 21%  33%)| 32% 34% _31%
Don't know 152] 16 20 26, 15 31 43| 74 78 30, 22 19 58 60, 79 10 61 133 11] 9|
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[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 6| 189 173 a3 411] o901 98! 87|
(1086)| (146)] (166). (192) (165). (191) (225)| (534) (552)| (232) (171). (74). (438)| (495). (470) (121)| (507) (458) (94). _ (7)| (180). (160) (39): (439)| (842)) (163) (81)
14%| 10% 12% 14% 9% 17% 20%| 13% 15%| 13% 13% 21% 14%| 14% 15% 11%| 14% 13% 22% 0| 14% 10% 24% 15%| 15% 11% 10%
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[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 189] 173 a3 411] o901 98! 87|
(1086)| (146): (166): (192) (165) (191) (225)| (534) (552)| (232) (171); (74) (438)| (495) (470). (121)| (507). (458). (94) (7)| (180). (160); (39) (439)| (842): (163) (81)
Q21. The Scottish Premiership football Base: All respondents 1086] 161 1720 189 162 182 220| 552 534| 236 175 89 423 431 534 121 478 488 94 6 189 173 437 411] 901 98 87
season, which is 80% complete, is currently (1086)| (146): (166) (192): (165) (191) (225)| (534) (552)| (232) (171); (74). (438)| (495); (470). (121)| (507) (458); (94) (7)|_(180) (160); (39) (439)| (842) (163) (81)
suspended indefinitely due to the pandemic, [End the season now, award the 322 36 56 68 45 52 65| 180 141 69 50 20 143] 156 141 25 153; 136 26 1 59 47 15; 143| 271 25 25|
with Celtic 13 points ahead with one more |title to Celtic, and cancel the 30%| 22% 33% 36% 28% 28% 29%| 33% 26%| 29% 29% 23% 34%| 36% 26% 21%| 32% 28% 28% 19%| 31% 27% 34% 35%| 30% 26% 29%
game played. The lower leagues have remaining three games of this
already been ended, with the titles awarded ‘s Scattish.C)
to the teams in the lead. What do you think |Cancel the season and do not 274 46 39 44 37 43 66| 121 153] 72 51 16 99| 106 141 27| 106 143 22 1 50 52 8: 94234 20 20
would be the best way to resolve the award the Premiership title to | 25%| 28%! 23% 23% 23% 24% 30%| 22% 29%| 31% 29% 18% 23%| 25% 26% 22%| 22% 29% 23% 18%| 26% 30% 18% 23%| 26% 21% 23%
situation? anvone
Play the remaining games 192 37 35! 38 26! 26 30102 90| 31; 44 19 80| 747 101 18| 98; 83 8 0 25; 41, 4 81 159 20 14
behind closed doors as soon as | 18%| 23% 20%) 20% 16% 14% 13%| 19% 17%| 13% 25% 21% 19%| 17% 19% 15%| 21% 17% 9% 0| 13% 24% 9% 20%]| 18% 20% 16%
practically possible (which is
likely to be much sooner than
they can be played normally in
front of crowds)
Wait for as long as is 76 13; 16 10 12 15 9| 38 38 16 10 4 31 32 37 8| 38 32 7 0| 14 14 1 31 64 5 7!
necessary until the remaining 7%| 8% 10% 5% 7% 8% 4%| 7% 7%| 7% 6% 4% 7% 7% 7% = 7%| 8% 7% 7% o 7% 8% 2% 7% 7% 5% 8%
league and cup games can be
played normally in front of
Don't know 221 28 26, 28 43 46 5171100 112 49 20; 30 70| 63 115 43 83; 94 30; 4 41 19 16 63 173 28 21]
20%| 18%: 15%: 15%: 26%: 25% 23%| 20% 21%| 21% 11% 34% 17%| 15% 22% 36%| 17% _19% _33%: 63%| 22% 11% 38% 15%| 19% _28% _24%
Q21a. Ending the season now would mean | Base: 'End the season now, 322] 36! 56 68! a5 52 65| 180  141] 69! 50 200 143 156 141 25 1537 136 26! 1 59 a7 15] 143 271 25 25
Hearts being relegated to the Championship |award the title to Celtic' at | (326)| (32); (56) (70); (48) (54) (66)| (179) (147)| (68) (49) (19) (149)| (176) (125) (25)| (165) (128) (26) (2)| (55) (43)] (15) (152)| (261) (41) (24)
and Hamilton Academical subjected toa  |Q21
playoff, despite only being four points and
two points respectively behind the teams
above them with eight games still to play. |There shouid be no reiegation 134] 17 20 25 22 2 29 77 57 26 20 9 60 57 62 15 63 60 9 1 21 19 8| 571109 10 15
Which of these do you think is the best and next season the 42%| 47%; 35% 36%! 0| 42% 45%| 43% 41% 38% 39%| 42% 42%| 36% 44% 61%| 41% 44% 33% 49%| 36%; 41% 55%| 40%| 40% 40% 59%
approach? Premiership should be
temporarily expanded to
accommodate the
Championship winners and
runners-up. In that season
there should be two relegation
spots and two play-off spots to
return the Premiership.to 12
The two teams should be 107, 12 24 24 17 15 15 56 51 22 23; 7 46| 57 6 50; 44 12 0 19 19 3 52| 95: 8 4
treated as if the season had 33%| 32% 43% 35% 39% 29% 24%| 31% 36%)| 31% 45% 35% 32%| 37% 32% 22%)| 33% 32% 44% 0| 33% 40% 21% 37%]| 35% 31% 17%
finished normally - the League
Two title was awarded to Raith
Rovers even though Falkirk
were only one point behind.
As above, but the Premiership 35 5 10 12 0 3 5| 18 17] 5 6 1 23] 24 10 1 23 9 2 1 4 6 [ 22| 30; 3 2]
should be expanded to 14 11%)| 13% 18% 18% 0 5% 7%| 10% 12%| 7% 11% 4% 16%| 15% 7% 3% 15% 7% 8% 51%| 7% 12% 0 15%| 11% 10% 7%
teams permanently.
Don't know 45| 3 2 7 12 1§ 30 1§ 16 2 4 15| 18 24 4 17 24 4 0| 14 4 3 11] 36 5 4
149%| 7%: 4% 11% 12% 24% 24% 16% 11%] 23% 5% 19% 10%)] 12% 17% 14% 11% 18% 15% 0 24% 7%: 24% 8% 13% 19% 17%
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[Base: 1,086 Total Gender X Age SEG 2019 Westminster 2014 Independence | How would you vote in response to 2016 Holyrood Country of Birth
Referendum the question: Should Scotland be
an country?
Male x | Male x | Male x | Female | Female | Female | ABCI | C2DE | CON | LAB (LibDem! SNP |Ivoted: Ivoted| Idid | Yes No | Don't  Would | CON | LAB [LibDem! SNP |Scotlan’ England} Other
16-30 | 3684 | 854 vi1A-24iv3w84 v Ve Nn__int votel knnw_innt vntel 4
Total 1086 161 1720 189 162 182 220| 552, 534] 236 175 89, 423 431 534 121] 478 ass 94 189] 173 a3 411] o901 98! 87|
(1086)| (146): (166): (192) (165) (191) (225)| (534) (552)| (232) (171); (74) (438)| (495) (470). (121)| (507). (458). (94) (7)| (180). (160); (39) (439)| (842): (163) (81)
Q22. Which of these is closest to what you | Base: All respondents 1086] 161 1720 189 162 182 220| 552 534| 236 175 89 423 431 534 121 478 488 94 6| 189 173 437 a11] o901 98! 87|
personally believe the word “woman” to (1086)| (146): (166) (192): (165) (191) (225)| (534) (552)| (232) (171); (74). (438)| (495); (470). (121)| (507) (458); (94) (7)|_(180) (160); (39) (439)| (842) (163) (81)
mean? An adult human female, with 785|108 127 171, 76i 123 179|396 389 215 120 67 282|304 409 72301 399 65 6 1700 128 29276 658 71 56
XX chromosomes and female 72%)| 67% 74% 91% 47% 68% 81%| 72% 73%| 91% 69% 75% 67%| 70% 77% 60%| 63% 82% 70% 91%| 90% 74% 68% 67%| 73% 73% 64%
Qaenitalia.
Anyone who says they're a 301] 53 44, 18 85 59 a1 156 145 21 55 22 1411270128 a9 177 89 28 1 19 45 147 135) 243 27 31
woman, regardless of their 28%| 33% 26% 9% 53% 32% 19%| 28% 27%| 9% 31% 25% 33%| 30% 23% 40%| 37% 18% 30%  9%| 10% 26% 32% 33%| 27% 27% 36%
biology
Q23. Last week a person called Freddy Base: All respondents 1086] 161 1720 189 162, 182 220| 552 534| 236 175 89, 423 431 534 121] 478 488 94 6| 189 173 23] a11] o901 98! 87|
McConnell, who is biologically female and (1086)| (146); (166) (192) (165) (191) (225)| (534) (552)| (232) (171); (74). (438)| (495) (470). (121)| (507) (458) (94) (7)|_(180) (160); (39) (439)| (842) (163)  (81)
gave birth to a child but now lives as a man, [They shouid be recorded as the|  678] 89 107 134 87 111 150 '360. 318 173 97 59, 265 279 335 64 280, 330 52 1711 103 25256 s61 63 54)
lost an Appeal Court case in which they mother 62%)| 55% _62%: _71% 54%; 61% 73% 63%)| 65% _ 63% 18%| 75% 62%
sought to be recorded on the child's birth  [They should be recorded as the 152] 36 22 16 39 22! 12 67| 61! 63! 0| 10 65
certificate as its father rather than its father 14%]| 22%: 13% 9% 24% _12% 5% 16%]| 14% 12% o 5% 16%)|
mother. In general terms, which is your  [pon't know 256 36 43, 38 36 48 55| 114 141 51 39 23 91 92135 29 1090 110 29; 5| 38; 38 13 o1 215 23 17
view? 24%)| 22% 25% 20% _22% _26% _25%| 21% 26%| 22% 22% 26% _22%| 21%; 25% 24%| 23% _22% 31% _82%| 20% 22% 30% _22%| 24% 24% 20%
Q24. Do you think someone who identifies | Base: All respondents 1086 161, 1720 189, 162, 182, 220| 552, 534] 236 175 89, 423 431 534 121] 478 488 94 6| 189 173 a3]  411] o901 98] 87|
as a woman, but was born male and still has| (1086)| (146): (166). (192) (165). (191) (225)| (534) (552)| (232) (171) (74). (438)| (495). (470) (121)| (507). (458): (94) (7)]..(180) (160); (39) (439)| (842) (163)  (81)
male genitalia, should be allowed to use  [They shouild be allowed 220 57 32 14 62 35, 20 1200 100| 16 42 23 99| 93, 93 35 131 67 17 1 16 40 11 o1 " 187 15 18
female changing rooms where women and 20%| 35%: 19% 7% _38%; 19% __ 9%)| 22% _19%)| 7% _24% _25% _23%| 22%; _17% _29%| 27% _14% _18%; _ 9%| 9% 23% _25%; _22%| 21% _15% _ 21%
girls are undressing/showering, even if They should not be allowed 866 104; 140; 175; 100; 147; 200 432 434 220 133; 66 324 338; 441 86| 347; 422 77 6| 172 133; 32 320| 714! 83 69
those women object? 80%| 65% 81% 93% 62% 81% 91%| 78% 81%| 93% 76% 75% 77%| 78% 83% 71%| 73% 86% 82% 91%| 91% 77% 75% 78%| 79% 85% 79%




